Maths 10
1. Complete the sequence by counting in 7s
49

35
28

14
7


2. 5032 has exactly…

______ ones

______ tens

______ hundreds

______thousands 
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3. Write the fraction that is one tenth less than 

4. What is 1000 more than 29 357?

5. 4823 + 1246 = 

6. Round the following numbers to the nearest ten:

36
53
127

7. Round 16.7 to the nearest whole number. 

8. What is 8 less than 3?

9. What is  of 36?

10. Complete the following calculation using the grid method to help you.

56 x 4 = 
	x
	
	

	
	
	



